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Inequality in the Tetrahedron
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MR 2. 1C 25 [ A 5% 8 HD

cos a — cos fBcos ¥
sin Ssin ¥
iERl  fnfE 2.1,7 SA,SB L4 FIBUE ELF.{§18 SE =
SF=1,¢ EH | SC F/& H,FG | SC F& G, EH 5 FG
Fr I f A 6,, H SH = cos 8, EH = sin 8,SG = cos 7,FG =
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0 AT VT RN DI T S
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(2.2)
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sin” sin 7[1 ( sin @Bsin ¥
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iERl ot R LT IR S
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QH? =sec’a + sec’ 8 — 2sec asec fcos ¥

P 2 A e B AR

cos ¥ = cos acos 3+ sin asin fcos ¢ 2. 4)
K sing > 0,sin >0, —1 < cos o< 1, \TiIH

cos(a+ B) << cos y << cos(a — ) (2.5)

A a=pMo<a—B<n Hat+tp=nlt,va—pE [0,n): H
cos y <<cos(a—R) Fihy >a—Bsilla—B<ry<atp
Bo<atp<nhts¥ia—pBra+BE [0,m) HARQ.DABa—p<y<
at+pB FRE a+p> 7.8+ 7> o FHEATIE « + 7 > B IEEE.
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A RERM R
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iR oEEaXCOHLE
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[F A —1<cos < 1,sina,sin >0
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BT LA cos(a+ ) << cos y << cos(a— )

[ 2

cos(a+7) < cos B < cos(a—7)
cos(B+7) < cos a < cos(B— )
ootk X (2. 3) B IE B AT A
a—pB<y<atp
a—y<<pf<atvy
HEBat+p>7:ptr>asrta> B HHKX
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H V- P A RE B
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